
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

2173.6 × 0.01 = ________ 8248.9 × 0.1 = ________

1753.8 × 0.0001 = ________ 1164.2 × 0.01 = ________

2374.7 × 0.001 = ________ 1879.4 × 0.0001 = ________

9540.9 × 0.1 = ________ 1716.2 × 0.1 = ________

1414.9 × 0.0001 = ________ 7226.6 × 0.001 = ________

3447.2 × 0.1 = ________ 6096.2 × 0.001 = ________

9695.8 × 0.1 = ________ 2957.9 × 0.001 = ________

8853.3 × 0.001 = ________ 7415.4 × 0.001 = ________

5261 × 0.01 = ________ 5301.4 × 0.0001 = ________

4196.6 × 0.1 = ________ 8612.7 × 0.01 = ________
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

2173.6 × 0.01 = 21.736 8248.9 × 0.1 = 824.89

1753.8 × 0.0001 = 0.17538 1164.2 × 0.01 = 11.642

2374.7 × 0.001 = 2.3747 1879.4 × 0.0001 = 0.18794

9540.9 × 0.1 = 954.09 1716.2 × 0.1 = 171.62

1414.9 × 0.0001 = 0.14149 7226.6 × 0.001 = 7.2266

3447.2 × 0.1 = 344.72 6096.2 × 0.001 = 6.0962

9695.8 × 0.1 = 969.58 2957.9 × 0.001 = 2.9579

8853.3 × 0.001 = 8.8533 7415.4 × 0.001 = 7.4154

5261 × 0.01 = 52.61 5301.4 × 0.0001 = 0.53014

4196.6 × 0.1 = 419.66 8612.7 × 0.01 = 86.127
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